Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

DRM Electrical acting for and on behalf of The President of India invites E-Tenders against Tender No **EL-50-1-ADI-T-82-2022-23** Closing Date/Time 09/03/2023 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work		on with providing electrical assets in new natnagar-Ahmedabad Section under SSI	0 1 0
Bidding type	Normal Tender		
Tender Type	Open	Bidding System	Single Packet System
Tender Closing Date Time	09/03/2023 15:00	Date Time Of Uploading Tender	08/02/2023 12:00
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable
Advertised Value	16163168.00	Tendering Section	WA
Bidding Style	Single Rate for Tender	Bidding Unit	Above/Below/Par
Earnest Money (Rs.)	230800.00	Validity of Offer (Days)	60
Tender Doc. Cost (Rs.)	0.00	Period of Completion	12 Months
Contract Type	Works	Contract Category	Expenditure
Bidding Start Date	23/02/2023	Are Joint Venture (JV) firms allowed to bid	No
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Deposit Work

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Schedul	e A-Schedule	e of Rates a	d quantities				16163168.00	
	Please see	Item Breakı	up for details	S.	213830.00	AT Par	213830.00	
01	Incoming a	nd 2 Nos. 6	3A, MCB FF	2 & 8 Nos. 3	2A MCB DP as out	going with Am	consisting 1 No. 10 nmeter & voltmeter a ara (A) of Annexure.	
	Please see	Item Breakı	up for details	S.	99434.00	AT Par	99434.00	
02	200Amp ro	tary type ph	ase selecto	r switch, 3ph	ase, 4wire, 415 vo	lt AC, 125Amp	Panel having minimon MCCB FP as incorecification shown in	ning & single
	Please see	Item Breakı	up for details	S.	114926.00	AT Par	114926.00	
03	-				commissioning on in Para (C) of An	•	eeder pillar with	all associate
	Please see	Item Breakı	up for details	S.	197184.00	AT Par	197184.00	
04	FP as incor	ming & 2 No	s.63A MCB		20Amp. MCB DP as	•	Switch board having all associate acces	
	Please see	Item Breakı	up for details	S.	1019016.00	AT Par	1019016.00	
05	as incomin	g and 2 Nos	s. 16Amp. 3		tivity RCBO DP as		d having 1 No. 32A all associate access	
	Please see	Item Breakı	up for details	S.	1339338.00	AT Par	1339338.00	
06	incoming 8	9 Nos. 20	0Amp. 30 m		y RCBO DP as ou		board having 63 Mall associate access	
	Please see	Item Breakı	up for details	S.	453600.00	AT Par	453600.00	
07		n:- Digging ara (G) of Ar		ench 450 x	1000 mm. in RCC	C/PCC/hard so	oil. as per technical	specification
	Please see	Item Breaku	up for details	S.	532000.00	AT Par	532000.00	
08	Description of Annexure	00 0	of cable trer	nch 450 x 10	000 mm & refilling a	as per technica	al specification show	n in Para (H)
	Please see	Item Breakı	up for details	S.	114000.00	AT Par	114000.00	
09		n:- Digging ara (I) of An		ench 650X10	000 mm & refilling	for double cal	ole as per technical	specification

Page 1 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

	Please see Item Breakup for details.	318000.00	AT Par	318000.00	
0	Description:- Transportation, laying, installati	on, terminating, testi	ng and comm	issioning of LT/HT of	able of size
	4 core 10 sq.mm to 4 core 300 sq. mm. In	existing trench, pipe	or on structu	re as per technical	specification
	shown in Para (J) of Annexure.	54000000	47.0	54000000	<u> </u>
_	Please see Item Breakup for details.	540600.00	AT Par	540600.00	
1	Description:- Supply and laying of half round shown in Para (K) of Annexure.	RCC pipe 100 mm. I	ID & 1 mtr. len	gth as per technical	specificatio
	Please see Item Breakup for details.	39500.00	AT Par	39500.00	
2	Description:- Supply, installation, testing	& commissioning o	f LT cable r	oute marker as p	per technic
	specification shown in Para (L) of Annexure.		1	====	ı
•	Please see Item Breakup for details.	117250.00	AT Par	117250.00	
3	Description:- Supply, installation, testing & thickness as per IS -4984-1995 as per technic	_	-		Dia, 6.2 mi
	Please see Item Breakup for details.	118250.00	AT Par	118250.00	
4	Description:- Digging of cable trench by	y pushing method	under track/	road and laying,	testing an
	commissioning of cable with HDPE pipe as per				-
	Please see Item Breakup for details.	1431600.00		1431600.00	
15	Description:- Supply, installation, testing and all accessories as per technical specification s	•	•	Pole-5 mtr. With fo	undation an
	Please see Item Breakup for details.	198000.00	AT Par	198000.00	
16	Description:- Supply, installation, testing an	d commissioning of	Octagonal G		
	cross arm Foundation and all accessories as p	_	-		
	Please see Item Breakup for details.	908625.00	AT Par	908625.00	
7	Description:- Supply, installation, testing and				
	with all associated accessories. The contracto site and as per technical specification shown in	n Para (Q) of Annexu	ire.		· I
	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provides	Para (Q) of Annexu 408100.00 de open/surface wiri	AT Par	408100.00 point up to 6 met	er with thre
18	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch will blocks, 3-point ceiling rose, angular base land	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted co	ng of light/fan ed" copper wi The rates of pover plate and er technical sp	408100.00 I point up to 6 met res for phase, neut oint wiring include phasey duty PVC recification shown in	er with thre ral & earth i roviding PV round/squar
18	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing cappaswitchboard with 6 Amps. modular switch will blocks, 3-point ceiling rose, angular base land Annexure. Note: Beyond 6 meter wiring additional province in the province of the province in the province of the province in the pro	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted co	ng of light/fan ed" copper wi The rates of pover plate and er technical sp	408100.00 I point up to 6 met res for phase, neut oint wiring include phasey duty PVC recification shown in	er with thre ral & earth i roviding PV round/squar n Para (R) (
	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch wiblocks, 3-point ceiling rose, angular base lan Annexure. Note: Beyond 6 meter wiring addition Please see Item Breakup for details. Description:- Supply, fixing, testing and commendation of the provided service of the provi	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted co inp holder etc. as per inal payment will be 32250.00 missioning of 6A/5 pin	ng of light/fan ed" copper wi The rates of pover plate and r technical sp done through AT Par	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on e	er with thre ral & earth i roviding PV round/squar n Para (R) o
	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch wiblocks, 3-point ceiling rose, angular base lan Annexure. Note: Beyond 6 meter wiring addition Please see Item Breakup for details.	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted co inp holder etc. as per inal payment will be 32250.00 missioning of 6A/5 pin	ng of light/fan ed" copper wi The rates of pover plate and r technical sp done through AT Par	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on e	er with three ral & earth in cound/square n Para (R) of existing boardure.
9	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch wiblocks, 3-point ceiling rose, angular base lan Annexure. Note: Beyond 6 meter wiring addition Please see Item Breakup for details. Description:- Supply, fixing, testing and common complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and common complete with accessories in open manner as Please see Item Breakup for details.	A Para (Q) of Annexument Para (Q) of Annexument A08100.00 de open/surface wirich insulated "ISI Mark bing of white/cream. With flush mounted comp holder etc. as per per per per per per per technical specification of 45375.00 nomissioning of 06A/5 nomissioning of 06A/5	ng of light/fan ed" copper wi The rates of prover plate and er technical sp done through AT Par n Socket with I cation shown in AT Par	408100.00 I point up to 6 met res for phase, neut oint wiring include pd heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 and Modular switch	er with three ral & earth in coviding PV round/square Para (R) of existing board rure.
9	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch wiblocks, 3-point ceiling rose, angular base lan Annexure. Note: Beyond 6 meter wiring addition Please see Item Breakup for details. Description:- Supply, fixing, testing and common complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and comboard complete with accessories in open manner as	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted comp holder etc. as per onal payment will be a 32250.00 missioning of 6A/5 pin per technical specific 45375.00 nmissioning of 06A/5 ner as per technical	ng of light/fan ed" copper wi The rates of pover plate and retechnical sp done through AT Par n Socket with I cation shown in AT Par 5 pin Socket a specification sl	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 and Modular switch hown in Para (R) of	er with three ral & earth in roviding PV round/square Para (R) of existing boar rure.
9	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch with blocks, 3-point ceiling rose, angular base lan Annexure. Note: Beyond 6 meter wiring addition Please see Item Breakup for details. Description:- Supply, fixing, testing and common complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and comboard complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and comboard complete with accessories in open manner please see Item Breakup for details.	A Para (Q) of Annexument Para (Q) of Annexument A08100.00 de open/surface wirich insulated "ISI Mark bing of white/cream. With flush mounted comp holder etc. as per penal payment will be a 32250.00 missioning of 6A/5 pin per technical specific 45375.00 nmissioning of 06A/5 pin per technical specific 45375.00 nmissioning of 06A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00	ng of light/fan ed" copper wi The rates of pover plate and er technical sp done through AT Par n Socket with I cation shown in AT Par o pin Socket a specification si AT Par man socket a	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 and Modular switch hown in Para (R) of 120600.00 I socket with modular socket	er with three ral & earth in roviding PV round/square Para (R) of existing boardure. on separate Annexure.
20	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard bear below. Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and conseparate board complete with all accessories and compound complete with all accessories and conseparate board complete with all accessories and consequences.	A Para (Q) of Annexument Para (Q) of Annexument A08100.00 de open/surface wirich insulated "ISI Mark bing of white/cream. With flush mounted comp holder etc. as per penal payment will be a 32250.00 missioning of 6A/5 pin per technical specific 45375.00 nmissioning of 06A/5 pin per technical specific 45375.00 nmissioning of 06A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00 mmissioning of 16 A/5 pin per technical specific 45375.00	ng of light/fan ed" copper wi The rates of pover plate and er technical sp done through AT Par n Socket with I cation shown in AT Par o pin Socket a specification si AT Par man socket a	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 and Modular switch hown in Para (R) of 120600.00 I socket with modular socket	er with thre ral & earth i roviding PV round/squar n Para (R) o existing boar ure. on separat Annexure. lar switch o exure.
9 20 21	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provide numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard with 6 Amps. modular switch witchboard. Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and conseparate board complete with all accessories and please see Item Breakup for details.	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted comp holder etc. as per binal payment will be a 32250.00 missioning of 6A/5 pin per technical specifical	are. AT Par Ing of light/fan ed" copper wi The rates of power plate and retechnical sp done through AT Par an Socket with I cation shown in AT Par specification si AT Par amps multi pin cification shown AT Par	408100.00 I point up to 6 met res for phase, neut oint wiring include phe heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 and Modular switch hown in Para (R) of 120600.00 I socket with modular in Para (R) of Annex 66600.00	er with three ral & earth in roviding PV round/square Para (R) of existing boardure. on separate Annexure. lar switch of exure.
9 20 21	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard bear below. Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and conseparate board complete with all accessories and compound complete with all accessories and conseparate board complete with all accessories and consequences.	A Para (Q) of Annexument Para (Q) of Manas	are. AT Par Ing of light/fan Ing of light/fan	408100.00 In point up to 6 met res for phase, neut oint wiring include put heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 In Modular switch hown in Para (R) of 120600.00 In socket with modular in Para (R) of Annex 66600.00 In with 6 mm. sq. siz 4 sq. mm. copper view of the square	er with three ral & earth roviding PV round/squain Para (R) existing boar ure. on separa Annexure. lar switch contact exure.
9 20 21	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provide numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard with 6 Amps. modular switch witchboard. Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with all accessories and Please see Item Breakup for details. Description:- Supply of materials and wiring FRLS PVC insulated ISI marked copper wire	A Para (Q) of Annexument Para (Q) of Manas	are. AT Par Ing of light/fan Ing of light/fan	408100.00 In point up to 6 met res for phase, neut oint wiring include put heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 In Modular switch hown in Para (R) of 120600.00 In socket with modular in Para (R) of Annex 66600.00 In with 6 mm. sq. siz 4 sq. mm. copper view of the square	er with three ral & earth in roviding PV round/square Para (R) of existing boardure. on separate Annexure. lar switch of exure. e multistrandwire for earth
9 20 21 22	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provion numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard switch and see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound see Item Breakup for details. Description:- Supply, fixing, testing and compound separate board complete with all accessories and please see Item Breakup for details. Description:- Supply of materials and wiring FRLS PVC insulated ISI marked copper wire continuity with PVC casing capping as per tech	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted comp holder etc. as per binal payment will be a 32250.00 missioning of 6A/5 pin per technical specification of the specificat	are. AT Par Ing of light/fan ed" copper wi The rates of pover plate and ar technical sp done through AT Par In Socket with I cation shown in AT Par In pin Socket a specification shown AT Par Imps multi pin cification shown AT Par open manner one number open manner one number 2	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 And Modular switch hown in Para (R) of 120600.00 I socket with modular in Para (R) of Annex 66600.00 I with 6 mm. sq. siz 4 sq. mm. copper value of Annexure. 863500.00 I with 4 mm. sq. siz 5 sq. mm. copper value of Sq. mm. copper val	er with three ral & earth in roviding PV round/square Para (R) of existing boar rure. on separate Annexure. lar switch of exure. e multistran wire for earth
18 19 20 21 22	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provide numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard with 6 Amps. modular switch witchboard. Note: Beyond 6 meter wiring addition Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and compound complete with all accessories and Please see Item Breakup for details. Description:- Supply of materials and wiring FRLS PVC insulated ISI marked copper wire continuity with PVC casing capping as per technology. Description:- Supply of materials and wiring FRLS PVC insulated ISI marked copper wire for the supply of materials and wiring FRLS PVC insulated ISI marked copper wire for the supplementary with PVC casing capping as per technology.	408100.00 de open/surface wiri C insulated "ISI Mark bing of white/cream. ith flush mounted comp holder etc. as per binal payment will be a 32250.00 missioning of 6A/5 pin per technical specification of the specificat	are. AT Par Ing of light/fan ed" copper wi The rates of pover plate and ar technical sp done through AT Par In Socket with I cation shown in AT Par In pin Socket a specification shown AT Par Imps multi pin cification shown AT Par open manner one number open manner one number 2	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 And Modular switch hown in Para (R) of 120600.00 I socket with modular in Para (R) of Annex 66600.00 I with 6 mm. sq. siz 4 sq. mm. copper value of Annexure. 863500.00 I with 4 mm. sq. siz 5 sq. mm. copper value of Sq. mm. copper val	er with three ral & earth in roviding PV round/square Para (R) of existing boardure. on separate Annexure. lar switch of exure. e multistrandwire for earth wire for earth wire for earth provided to the real strandwire for earth wire for earth provided to the real strandwire for
20 21 22	site and as per technical specification shown in Please see Item Breakup for details. Description:- Supply of materials and provide numbers 1.5 mm. sq. multi strand, FRLS PVC "ISI Marked" medium class P.V.C. casing capp switchboard with 6 Amps. modular switch witchboard with 6 Amps. modular switch witchboard. Note: Beyond 6 meter wiring addition Please see Item Breakup for details. Description:- Supply, fixing, testing and complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and comboard complete with accessories in open manner as Please see Item Breakup for details. Description:- Supply, fixing, testing and complease see Item Breakup for details. Description:- Supply of materials and wiring FRLS PVC insulated ISI marked copper wire continuity with PVC casing capping as per tech Please see Item Breakup for details. Description:- Supply of materials and wiring FRLS PVC insulated ISI marked copper wire footnituity with PVC casing capping as per tech	A Para (Q) of Annexument Para (Q) of Main/Sub main in Gor phase, neutral & Gorphase, neutral &	are. AT Par ng of light/fan ed" copper wi The rates of power plate and red technical specification shown in AT Par appen manner open manner	408100.00 I point up to 6 met res for phase, neut oint wiring include phase heavy duty PVC recification shown in NS item. 32250.00 Modular switch on en Para (R) of Annex 45375.00 And Modular switch hown in Para (R) of 120600.00 I socket with modurn in Para (R) of Annex (R) of	er with three ral & earth is providing PV round/square Para (R) or existing boar wire. on separate Annexure. lar switch or earter wire for earter e multistran e mul

Page 2 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

	Description:- Supply, installation, testing & commissioning of call be of call bell point with Modular switch by 3 nos. 1.5 Sq. mm. FRLS single core in PVC casing capping/ pipe and all accessories as per to the property of Apparents.	PVC insulated	d copper conductor n	nulti strand
	of Annexure.	AT Day	710500.00	
26	Please see Item Breakup for details. 710528.00 Description:- Supply of 5 star rated 1200 mm BLDC ceiling Fan as	AT Par	710528.00	in Para /T
	of Annexure.		· 	III Faia (i
	Please see Item Breakup for details. 102480.00	AT Par	102480.00	
27	Description:- Fixing, testing and commissioning of fan with suppl type Fan regulator as per technical specification shown in Para (T) or	-	ting and commissioni	ng of EM
	Please see Item Breakup for details. 66050.00	AT Par	66050.00	
28	Description:- Supply, Installation, Testing and Commissioning of technical specification shown in Para (U) of Annexure	f 300 mm s	weep PVC Exhaust	fan as pe
	Please see Item Breakup for details. 56320.00	AT Par	56320.00	
29	Description:- Supply, fixing, testing and commissioning of 400 m technical specification shown in Para (V) of Annexure	nm sweep wa	all mounted bracket	fan as pe
	Please see Item Breakup for details. 237000.00	AT Par	237000.00	
30	Description:- Supply, installation, testing and commissioning of 20)W LED tube	light fitting IP 20 cor	nplete wit
,0	tube and all accessories. The contractor shall provide the mounting and as per technical specification shown in Para (Q) of Annexure.	g arrangeme	nt for fittings as requ	ired at sit
	Please see Item Breakup for details. 43248.00	AT Par	43248.00	
31	Description:- Supply, Installation, Testing and Commissioning specification shown in para (W) of Annexure	of emerger	ncy led light as pe	r technica
	Please see Item Breakup for details. 45000.00	AT Par	45000.00	
32	Description:- Supply, installation, testing & commissioning of specification shown in Para (X) of Annexure.	8 SWG G.I.	. earth Wire as pe	r technic
	Please see Item Breakup for details. 341376.00	AT Par	341376.00	
33	Description:- Supply of materials and providing 50 mm dia. G.I. p 3043- 1987as amended latest and as per drawing No. EL/ADI/51/27 specification shown in Para (Y) of Annexure.			-
	Please see Item Breakup for details. 27900.00	AT Par	27900.00	
34	Description:- Supply, installation, testing & commissioning of G.I. specification shown in Para (Z) of Annexure.		size 50X6 mm. as pe	r technic
	Please see Item Breakup for details. 429398.00	AT Par	429398.00	
35	Description:- Supply, installation, testing and commissioning of inches) hanged/ fixed with the help of 25x3 mm M.S. angle as per Annexure	LED glow sig		
	Please see Item Breakup for details. 117320.00	AT Par	117320.00	
36	Description:- Supply, installation, testing & commissioning of substarter to be installed in sump suitable for 240V single phase sushown in Para (BB) of Annexure	-		
	Please see Item Breakup for details. 132470.00	AT Par	132470.00	
37	Description:- Supply, erection, testing and commissioning of energy monoset pump set of 12.5 HP complete with all accessories (Copplete dead 40 Meter. Pump shall be of Amrut model no. N25 APL 125 (Co CG, Siemens, NGEF, Calama, KSB, Shriram, Lubi, KDS, Texmo, S Para (CC) of Annexure	per model) ha opper model)	aving discharge 840 or equivalent model c	_PM at th
	Please see Item Breakup for details. 120428.00	AT Par	120428.00	
88	Description:- Supply of energy efficient 415V 3 phase supply s complete with all accessories (Copper model) having discharge 840 Amrut model no. N25 APL 125 (Copper model) or equivalent model KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technical specification	LPM at the helf of Kirloskar	nead 40 Meter. Pump , CG, Siemens, NGE	shall be o
	Please see Item Breakup for details. 11872.00	AT Par	11872.00	
39	Description:- Supply and providing 40 mm dia. Heavy UPVC Column Para (DD) of Annexure	mn pipe as p	er technical specifica	tion show
	Please see Item Breakup for details. 553350.00	AT Par	553350.00	
	. Todos oco itom Eroditap to actamo		00000.00	

Page 3 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 Closing Date/Time: 09/03/2023 15:00

	Please see Item Breakup for details.	291968.00	AT Par	291968.00	
41	Description:- Supply, erection, testing and commi vertical pump set of 15 HP complete with all access 157 Meter. Pump shall be of Amrut model no. PS Siemens, NGEF, Calama, KSB, Shriram, Lubi, KDS (FF) of Annexure	sories (Copper n S 510 (Copper r	nodel) having model) or eq	discharge 200 LPM auvalent model of Kirl	at the head oskar, CG
	Please see Item Breakup for details.	265424.00	AT Par	265424.00	
42	Description:- Supply of energy efficient 415V 3 ph with all accessories (Copper model) having discha model no. PS 510 (Copper model) or equivalent mo Lubi, KDS, Texmo, Shakti as per technical specifical	rge 200 LPM at odel of Kirloskar,	the head 15 CG, Siemen	7 Meter. Pump shall b s, NGEF, Calama, KS	e of Amru
	Please see Item Breakup for details.	215396.00	AT Par	215396.00	
43	Description:- Supply, installation, testing and submersible vertical pump set of 7.5 HP complete LPM at the head 159 Meter. Pump shall be of Am Kirloskar, CG, Siemens, NGEF, Calama, KSB, Shr shown in Para (FF) of Annexure	e with all access rut model no. Ps	sories (Coppe S 506 (Coppe	er model) having disc er model) or equivaler	charge 14
	Please see Item Breakup for details.	195816.00	AT Par	195816.00	
44	Description:- Supply of energy efficient 415V 3 ph with all accessories (Copper model) having discha model no. PS 506 (Copper model) or equivalent model, KDS, Texmo, Shakti as per technical specifical	rge 140 LPM at odel of Kirloskar,	the head 159 CG, Siemen	9 Meter. Pump shall b s, NGEF, Calama, KS	e of Amru
	Please see Item Breakup for details.	314104.00	AT Par	314104.00	
45	Description:- Supply, installation, testing and con WLC of 20HP (Relay range 28Amp-42Amp) as per	-	-		
	Please see Item Breakup for details.	142772.00	AT Par	142772.00	
46	Description:- Supply of Pump controller FASD 142Amp) as per technical specification shown in Par			of 20HP (Relay rang	ge 28Amp
	Please see Item Breakup for details.	112386.00	AT Par	112386.00	
47	Description:- Supply, installation, testing and com as per technical specification shown in Para (HH) or		ımp controllei	r FASD with inbuilt WL	C of 15H
	Please see Item Breakup for details.	51084.00	AT Par	51084.00	
48	Description:- Supply of Pump controller FASD with Para (HH) of Annexure	h inbuilt WLC of	15 HP as per	r technical specificatio	n shown i
	Please see Item Breakup for details.	43104.00	AT Par	43104.00	
49	Description:- Supply, installation, testing and com as per technical specification shown in Para (II) of A	•	ımp controllei	r DOL with inbuilt WLC	C of 7.5 H
	Please see Item Breakup for details.	19592.00	AT Par	19592.00	
50	Description:- Supply of Pump controller DOL with Para (II) of Annexure.	inbuilt WLC of 7	7.5 HP as per	r technical specificatio	n shown i
	Please see Item Breakup for details.	13300.00	AT Par	13300.00	
51	Description:- Excavation of all kind of soil (excep Specification shown in Para (JJ) of Anexure.	t Rock) and fillin	ng back the e	excavated earth as pe	er technica
	Please see Item Breakup for details.	42950.00	AT Par	42950.00	
52	Description:- Excavation of Hard soil (Stone/Rock specification Shown in Para (KK) of Annexure.	k/RCC) and fillin	ig back the e	excavated earth as pe	er technica
	Please see Item Breakup for details.	23990.00	AT Par	23990.00	
53	Description:- Supply, installation, testing & comm mm as per technical specification Shown in Para (L	-	ight through .	Jointing Kit of size 4 c	ore 50 So
	Please see Item Breakup for details.	31790.00	AT Par	31790.00	
54	Description:- Supply, installation, testing & common Sq.mm. as per technical specification Shown in Par	_		h Jointing Kit of size	4 core 9
	Please see Item Breakup for details.	515080.00	AT Par	515080.00	
55	Description:- Supply, installation, testing and comwith all associated accessories. The contractor sha	all provide the mo	ounting arran		
	site and as per technical specification shown in Par	a (Q) of Annexur	re.		

Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

	Description:- Supply, erection, testing and co	mmissioning of plu	a with socket	20 Amn With 20 An	nn SP MCB
	(surface mounting) in plastic enclosure as per to		-	•	•
	Please see Item Breakup for details.	381448.00	AT Par	381448.00	
57	Description:- Supply, installation, testing and cooler with foundation as per technical specifical	_	•		body Water
	Please see Item Breakup for details.	260730.00	AT Par	260730.00	
58	Description:- Supply, installation, testing and owith accessories. The contractor shall provide per technical specification shown in Para (Q) of	the mounting arra	•		• .
	Please see Item Breakup for details.	7578.00	AT Par	7578.00	
59	Description:- Supply of DCP Type fire extire Annexure.	nguisher as per te	echnical specif	ication Shown in Pa	ara (OO) of
	Please see Item Breakup for details.	3000.00	AT Par	3000.00	
60	Description:- Supply, Installation, Testing and as per technical specification Shown in Para (Pl	_	30 Amp. Bake	elite 3 Way Connecto	or SHT Type
	Please see Item Breakup for details.	43960.00	AT Par	43960.00	
61	Description:- Supply, Installation, Testing and membranes / metric knockouts size 130 X 180 in Para (QQ) of Annexure.	•			•
	Please see Item Breakup for details.	140170.00	AT Par	140170.00	
62	Description:- Supply, installation, testing and features timer with temperature based load for (RR) of Annexure.	_			-
	Please see Item Breakup for details.	358820.00	AT Par	358820.00	
63	Description:- Supply, Installation, Testing an fitting) 2X(18/20) W LED tube fittings. The corequired at site and as per technical specification	ontractor shall prov	vide the mour	nting arrangement fo	

3. ITEM BREAKUP

Schedule	Schedu	le A-Schedule of Rates ad quantities.				
Item- 01	2 Nos.	fabrication, installation, testing & Commissioning of MDB cons 63A, MCB FP & 8 Nos. 32A MCB DP as outgoing with Ammete ciate accessories as per technical specification shown in Para	er & voltme	ter and R		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	01(E)	Errection	Numbers	10.00	1645.00	16450.00
2	01(s)	supply	Numbers	10.00	19738.00	197380.00
					Total	213830.00
Item- 02	type ph	fabrication, installation, testing & Commissioning of LT Panel ase selector switch, 3phase, 4wire, 415 volt AC, 125Amp MCC tgoing with 1No 125A DP MCCB as per technical specification	CB FP as in	coming &	single pha	se 240 V 2
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	02(E)	Errection	Numbers	2.00	734.00	1468.00
2	02(s)	supply	Numbers	2.00	48983.00	97966.00
					Total	99434.00
Item- 03		installation, Testing & commissioning of 200Amp. Feeder pilla al specification shown in Para (C) of Annexure.	ır with all a	ssociate a	ccessories	as per
S No.	Item	Description of Item	Unit	Qty	Rate	Amount
3 NO.	No	·				
1	No 03(E)	Errection	Numbers	7.00	1263.00	8841.00
1	_	Errection supply	Numbers Numbers		1263.00 15155.00	
1 2	03(E)					8841.00 106085.00 114926.00

Page 5 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	04(E)	Errection	Numbers	12.00	1264.00	15168.00
2	04(s)	supply	Numbers	12.00	15168.00	182016.00
					Total	197184.00
Item- 05	and 2 N	installation, testing & commissioning of Distribution board have los. 16Amp. 30 mA sensitivity RCBO DP as outgoing with all as ation shown in Para (E) of Annexure.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	05(E)	Errection	Numbers	72.00	400.00	28800.00
2	05(s)	supply	Numbers	72.00	13753.00	990216.00
					Total	1019016.00
Item- 06	20Amp.	installation, testing & commissioning of SDB Switch board hav 30 mA sensitivity RCBO DP as outgoing with all associate acc n Para (F) of Annexure.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	06(E)	Errection	Numbers	26.00	3963.00	103038.00
2	06(S)	Supply	Numbers	26.00	47550.00	1236300.00
					Total	1339338.00
Item- 07	Digging of Anne	of cable trench 450 x 1000 mm. in RCC/PCC/hard soil. as per xure.	r technical	specificati	on shown	in Para (G)
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	07(E)	Errection	Metre	1200.00	378.00	453600.00
	. ,		1		Total	453600.00
Item- 08	Digging	of cable trench 450 x 1000 mm & refilling as per technical spe	ecification s	shown in F		Annexure.
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	08(E)	Errection	Metre	7000.00	76.00	532000.00
	()				Total	532000.00
Item- 09	Digging of Anne	of cable trench 650X1000 mm & refilling for double cable as pxure.	per technic	al specific		ın in Para (I)
S No.	Item	Description of Item	Unit	Qty	Rate	Amount
	No	bescription of item				
1	No 09(E)	•	Metre	1200.00	95.00	114000.00
1		•	Metre	1200.00	95.00 Total	114000.00 114000.00
1 Item- 10	09(E) Transpo	•	oning of LT	/HT cable	Total of sizes 4	114000.00 core 10
1 Item- 10 S No.	09(E) Transpo	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure a	oning of LT	/HT cable	Total of sizes 4	114000.00 core 10
	Transposq.mm (J) of All	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure.	oning of LT as per tech	/HT cable nical spec	Total of sizes 4 dification sh	114000.00 core 10 nown in Para
S No.	Transposq.mm (J) of All Item	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item	oning of LT as per tech	/HT cable nical spec	Total of sizes 4 iffication sh	114000.00 core 10 nown in Para Amount 318000.00
S No.	Transpo sq.mm (J) of Al Item No 10(E)	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item	oning of LT as per tech Unit Metre	/HT cable nical spec Qty 10600.00	Total of sizes 4 iffication sh Rate 30.00 Total	114000.00 core 10 nown in Para Amount 318000.00
S No.	Transpo sq.mm (J) of Al Item No 10(E)	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item Errection and laying of half round RCC pipe 100 mm. ID & 1 mtr. length	oning of LT as per tech Unit Metre	/HT cable nical spec Qty 10600.00	Total of sizes 4 iffication sh Rate 30.00 Total	114000.00 core 10 nown in Para Amount 318000.00
S No. 1 Item- 11	Transpose, mm (J) of Ai Item No 10(E) Supply Para (K Item	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item Errection and laying of half round RCC pipe 100 mm. ID & 1 mtr. length of Annexure.	oning of LT as per tech Unit Metre as per tec	/HT cable nical spec Qty 10600.00 hnical spec	Total of sizes 4 iffication sh Rate 30.00 Total cification s	114000.00 core 10 nown in Para Amount 318000.00 318000.00
S No. 1 Item- 11	Transportsq.mm (J) of All Item No 10(E) Supply Para (K Item No	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item Errection and laying of half round RCC pipe 100 mm. ID & 1 mtr. length of Annexure. Description of Item	uning of LT unit Unit Metre as per tec	/HT cable nical spec Qty 10600.00 hnical spec	Total of sizes 4 iffication sh Rate 30.00 Total cification s	114000.00 core 10 nown in Para Amount 318000.00 318000.00 chown in Amount 540600.00
S No. 1 Item- 11	Transpose, mm (J) of Ai Item No 10(E) Supply Para (K Item No 11(E)	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item Errection and laying of half round RCC pipe 100 mm. ID & 1 mtr. length of Annexure. Description of Item	oning of LT as per tech Unit Metre as per tec Unit Numbers	/HT cable nical specifical specific	Total of sizes 4 iffication sh Rate 30.00 Total ciffication s Rate 51.00 Total	114000.00 core 10 nown in Para Amount 318000.00 318000.00 hown in Amount 540600.00
S No. 1 Item- 11 S No.	Transpose, mm (J) of Ai Item No 10(E) Supply Para (K Item No 11(E)	Errection ortation, laying, installation, terminating, testing and commission to 4 core 300 sq. mm. In existing trench, pipe or on structure annexure. Description of Item Errection and laying of half round RCC pipe 100 mm. ID & 1 mtr. length) of Annexure. Description of Item Errection installation, testing & commissioning of LT cable route marker	oning of LT as per tech Unit Metre as per tec Unit Numbers	/HT cable nical specifical specific	Total of sizes 4 iffication sh Rate 30.00 Total ciffication s Rate 51.00 Total	114000.00 core 10 nown in Para Amount 318000.00 318000.00 hown in Amount 540600.00

Page 6 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

					Total	39500.00
Item- 13		installation, testing & commissioning of HDPE Pipe 110 mm No		ı, 6.2 mm	thickness a	as per IS -
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	13(E)	Erection	Metre	250.00	469.00	117250.00
	- ()				Total	117250.00
Item- 14		of cable trench by pushing method under track/road and layin ipe as per technical specification shown in Para (N) of Annexu		and comm	nissioning o	of cable with
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	14(E)	Errection	Metre	250.00	473.00	118250.00
					Total	118250.00
Item- 15		installation, testing and commissioning of Octagonal GI. Pole-echnical specification shown in Para (O) of Annexure.	5 mtr. With	n foundation	on and all a	accessories
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	15(E)	Errection	Numbers	120.00	11930.00	1431600.00
					Total	1431600.00
Item- 16		installation, testing and commissioning of Octagonal GI. Poletion and all accessories as per technical specification shown in				arm
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	16(E)	Errection	Numbers	15.00	1200.00	18000.00
2	16(s)	supply	Numbers	15.00	12000.00	180000.00
i					Total	198000.00
Item- 17	associa	installation, testing and commissioning of 45 Watt LED street I ted accessories. The contractor shall provide the mounting arr per technical specification shown in Para (Q) of Annexure.			•	
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
İ						
1	17(E)	Errection	Numbers	375.00	220.00	82500.00
1	17(E) 17(s)	Errection supply	Numbers Numbers	375.00 375.00	220.00 2203.00	82500.00 826125.00
-	17(s)	supply	Numbers	375.00	2203.00 Total	826125.00 908625.00
-	Supply sq. multimedium with 6 A ceiling r		Numbers up to 6 me nase, neut th wiring in y duty PVO on shown	375.00 eter with the ral & earth clude prove	2203.00 Total ree number in "ISI Material PVC quare block	826125.00 908625.00 ers 1.5 mm. rked" switchboard ss, 3-point
2	Supply sq. multimedium with 6 A ceiling r	supply of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for pholographic class P.V.C. casing capping of white/cream. The rates of pointumps. modular switch with flush mounted cover plate and heavings, angular base lamp holder etc. as per technical specification.	Numbers up to 6 me nase, neut th wiring in y duty PVO on shown	375.00 eter with the ral & earth clude prove	2203.00 Total ree number in "ISI Material PVC quare block	826125.00 908625.00 ers 1.5 mm. rked" switchboard ss, 3-point
2 Item- 18	Supply sq. multi medium with 6 A ceiling r Beyond	supply of materials and provide open/surface wiring of light/fan point up to strand, FRLS PVC insulated "ISI Marked" copper wires for phonoclass P.V.C. casing capping of white/cream. The rates of point to strang modular switch with flush mounted cover plate and heavy cose, angular base lamp holder etc. as per technical specification of meter wiring additional payment will be done through NS ite Description of Item	Numbers up to 6 me nase, neut twiring in y duty PV0 on shown m.	375.00 eter with the ral & earth clude prove C round/so in Para (R	2203.00 Total ree numbe in "ISI Ma riding PVC quare block t) of Annex	826125.00 908625.00 ers 1.5 mm. rked" switchboard (s, 3-point ure. Note:
2 Item- 18	Supply sq. multi medium with 6 A ceiling r Beyond Item	supply of materials and provide open/surface wiring of light/fan point up to strand, FRLS PVC insulated "ISI Marked" copper wires for phonological capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavy cose, angular base lamp holder etc. as per technical specification of meter wiring additional payment will be done through NS ite Description of Item	Numbers up to 6 me nase, neut it wiring in y duty PVO on shown m. Unit	375.00 Inter with the ral & earth clude prove the count of the count	2203.00 Total ree number in "ISI Maxiding PVC quare blocks) of Annex	826125.00 908625.00 ers 1.5 mm. rked" switchboard ks, 3-point ure. Note:
2 Item- 18	Supply sq. multimedium with 6 A ceiling r Beyond Item No 18(E)	supply of materials and provide open/surface wiring of light/fan point up to strand, FRLS PVC insulated "ISI Marked" copper wires for phonological capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavy cose, angular base lamp holder etc. as per technical specification of meter wiring additional payment will be done through NS ite Description of Item	up to 6 me lase, neutre the wiring in y duty PV0 on shown m. Unit Numbers ular switch	375.00 Iter with the ral & earth clude proving round/so in Para (R. Qty.)	2203.00 Total ree numbee in "ISI Ma viding PVC quare block to of Annex Rate 371.00 Total ng board co	826125.00 908625.00 ers 1.5 mm. rked" switchboard (ss, 3-point ure. Note: Amount 408100.00 408100.00
2 Item- 18 S No.	Supply sq. multimedium with 6 A ceiling r Beyond Item No 18(E)	of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for phin class P.V.C. casing capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavenese, angular base lamp holder etc. as per technical specification 6 meter wiring additional payment will be done through NS ite Description of Item Errection fixing, testing and commissioning of 6A/5 pin Socket with Mod	up to 6 me lase, neutre the wiring in y duty PV0 on shown m. Unit Numbers ular switch	375.00 Iter with the ral & earth clude proving round/so in Para (R. Qty.)	2203.00 Total ree numbee in "ISI Ma viding PVC quare block to of Annex Rate 371.00 Total ng board co	826125.00 908625.00 ers 1.5 mm. rked" switchboard (ss, 3-point ure. Note: Amount 408100.00 408100.00
2 Item- 18 S No. 1 Item- 19	Supply sq. multi medium with 6 A ceiling r Beyond Item No 18(E)	of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for phin class P.V.C. casing capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavenese, angular base lamp holder etc. as per technical specification 6 meter wiring additional payment will be done through NS ite Description of Item Errection fixing, testing and commissioning of 6A/5 pin Socket with Moduries in open manner as per technical specification shown in Parameters.	up to 6 me nase, neutral wiring in y duty PV0 on shown m. Unit Numbers ular switchara (R) of	375.00 Inter with the ral & earth clude provided provide	2203.00 Total ree numbee in "ISI Ma riding PVC quare blocks) of Annex Rate 371.00 Total ng board co	826125.00 908625.00 ers 1.5 mm. rked" switchboard (s, 3-point ure. Note: Amount 408100.00 408100.00 complete with
2 Item- 18 S No. 1 Item- 19 S No.	Supply sq. multimedium with 6 A ceiling r Beyond Item No 18(E) Supply, accessor Item No	of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for phin class P.V.C. casing capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavenese, angular base lamp holder etc. as per technical specification 6 meter wiring additional payment will be done through NS ite Description of Item Errection fixing, testing and commissioning of 6A/5 pin Socket with Moduries in open manner as per technical specification shown in Parameters.	up to 6 me asse, neutron y duty PVC on shown m. Unit Numbers ular switch ara (R) of Unit	375.00 Inter with the ral & earth clude proving round/sc in Para (Rate of the rate of the	2203.00 Total ree numbee in "ISI Ma riding PVC quare blocks) of Annex Rate 371.00 Total ng board co	826125.00 908625.00 ers 1.5 mm. rked" switchboard (ss, 3-point ure. Note: Amount 408100.00 408100.00 complete with
2 Item- 18 S No. 1 Item- 19 S No.	Supply sq. multimedium with 6 A ceiling r Beyond Item No 18(E) Supply, accessor Item No 19(E)	of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for phin class P.V.C. casing capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavenese, angular base lamp holder etc. as per technical specification 6 meter wiring additional payment will be done through NS ite Description of Item Errection fixing, testing and commissioning of 6A/5 pin Socket with Moduries in open manner as per technical specification shown in Parameters.	up to 6 me asse, neutron wiring in y duty PVC on shown m. Unit Numbers ular switch ara (R) of Unit Numbers	375.00 Inter with the ral & earth clude proved for cound/so in Para (Rate of the proved for the	2203.00 Total ree number in "ISI Ma viding PVC quare blocks) of Annex Rate 371.00 Total ng board con Rate 129.00 Total rate board	826125.00 908625.00 ers 1.5 mm. rked" switchboard (s., 3-point ure. Note: Amount 408100.00 408100.00 complete with Amount 32250.00 32250.00
2 Item- 18 S No. 1 S No. 1	Supply sq. multimedium with 6 A ceiling r Beyond Item No 18(E) Supply, accessor Item No 19(E)	of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for phin class P.V.C. casing capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavings, angular base lamp holder etc. as per technical specification 6 meter wiring additional payment will be done through NS ite Description of Item Errection Description of Item Errection Description of Item Errection Description of Item	up to 6 me asse, neutron wiring in y duty PVC on shown m. Unit Numbers ular switch ara (R) of Unit Numbers	375.00 Inter with the ral & earth clude proved for cound/so in Para (Rate of the proved for the	2203.00 Total ree number in "ISI Ma viding PVC quare blocks) of Annex Rate 371.00 Total ng board con Rate 129.00 Total rate board	826125.00 908625.00 ers 1.5 mm. rked" switchboard (s., 3-point ure. Note: Amount 408100.00 408100.00 complete with Amount 32250.00 32250.00
2 Item- 18 S No. 1 S No. 1 Item- 19 S No. 1 Item- 20	Supply sq. multimedium with 6 A ceiling r Beyond Item No 18(E) Supply, accessor Item No 19(E) Supply, with accessor Item	of materials and provide open/surface wiring of light/fan point utilistrand, FRLS PVC insulated "ISI Marked" copper wires for phin class P.V.C. casing capping of white/cream. The rates of point amps. modular switch with flush mounted cover plate and heavings, angular base lamp holder etc. as per technical specification 6 meter wiring additional payment will be done through NS ite Description of Item Errection Description of Item Errection Errection Description of Item Description of Item Description of Item Description of Item	Numbers up to 6 me lase, neuting in y duty PVC on shown m. Unit Numbers ular switch ara (R) of Unit Numbers dular switch ara (R) or	375.00 Inter with the ral & earth clude proving the range of the rang	2203.00 Total ree numbee in "ISI Ma viding PVC quare block in of Annex Rate 371.00 Total ng board co Rate 129.00 Total arate board xure.	826125.00 908625.00 ers 1.5 mm. rked" switchboard (ss, 3-point ure. Note: Amount 408100.00 408100.00 omplete with Amount 32250.00 I complete

Page 7 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	21(E)	Errection	Numbers	225.00	536.00	120600.00
					Total	120600.00
Item- 22	insulate	of materials and wiring of main/sub main in open manner with ord ISI marked copper wire for phase, neutral & one number 4 so C casing capping as per technical specification shown in Para	q. mm. co	pper wire		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
I	22(E)	Errection	Metre	300.00	222.00	66600.00
					Total	66600.00
Item- 23	insulate	of materials and wiring of main/sub main in open manner with and ISI marked copper wire for phase, neutral & one number 2.5 C casing capping as per technical specification shown in Para	sq. mm.	copper wir		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	23(E)	Errection	Metre	5500.00	157.00	863500.00
					Total	863500.00
Item- 24	insulate	of materials and wiring of main/sub main in open manner with and ISI marked copper wire for phase, neutral & one number 1.5 C casing capping as per technical specification shown in Para	sq. mm.	copper wir		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	24(E)	Errection	Metre	3500.00	111.00	388500.00
Item- 25	point w	installation, testing & commissioning of call bell and supply of rith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of the state of the st	copper co	nductor m	ulti strand	single core
Item- 25 S No.	point w	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical specials.	copper co	nductor m	ulti strand	single core
	point win PVC Annexu Item No	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical specifie. Description of Item	copper co ification sh	nductor minown in Pa	ulti strand tra (R) & (S	single core S) of Amount
	point win PVC Annexu	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item	copper co ification sh	nductor monductor monducto	ulti strand tra (R) & (S Rate 632.00	single core S) of Amount 6320.00
S No.	point win PVC Annexu Item No 25(E)	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection	copper co ification sh Unit Numbers	Oty 10.00	ulti strand tra (R) & (S Rate 632.00	single core S) of Amount 6320.00
S No.	point win PVC Annexu Item No 25(E)	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical specifie. Description of Item	copper co ification sh Unit Numbers	Oty 10.00	ulti strand tra (R) & (S Rate 632.00	single core S) of Amount 6320.00
S No.	point win PVC Annexu Item No 25(E) Supply Item	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection of 5 star rated 1200 mm BLDC ceiling Fan as per technical special special star rated 1200 mm BLDC of Item	copper co- ification sh Unit Numbers ecification	Qty 10.00 shown in F	ulti strand Ira (R) & (S Rate 632.00 Total Para (T) of	Amount 6320.00 Annexure. Amount
S No.	point win PVC Annexu Item No 25(E) Supply Item No	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection of 5 star rated 1200 mm BLDC ceiling Fan as per technical special per technical per tech	copper co ification sh Unit Numbers ecification Unit	Qty 10.00 shown in F	ulti strand ara (R) & (\$ Rate 632.00 Total Para (T) of Rate	Amount 6320.00 Annexure. Amount 710528.00
S No. 1 Item- 26 S No. 1	point win PVC Annexu Item No 25(E) Supply Item No 26(s)	th Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection of 5 star rated 1200 mm BLDC ceiling Fan as per technical special per	Unit Numbers ecification Unit Numbers d commiss	Qty 10.00 shown in F Qty 244.00	ulti strand ara (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total	Amount 6320.00 Annexure. Amount 710528.00
S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s)	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection of 5 star rated 1200 mm BLDC ceiling Fan as per technical special per special per second per special per special per second per special per sp	Unit Numbers ecification Unit Numbers	Qty 10.00 shown in F Qty 244.00	ulti strand ara (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total	Amount 6320.00 Annexure. Amount 710528.00
S No. Item- 26 S No. Item- 27 S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item	th Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection of 5 star rated 1200 mm BLDC ceiling Fan as per technical special per supply testing and commissioning of fan with supply, fixing, testing and or as per technical specification shown in Para (T) of Annexure Description of Item	Unit Numbers ecification Unit Numbers d commiss	Qty 10.00 shown in F Qty 244.00	ulti strand ara (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00	Amount 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 Amount 102480.00
S No. Item- 26 S No. Item- 27 S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item No 27(E)	th Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection Of 5 star rated 1200 mm BLDC ceiling Fan as per technical special period of Item Supply testing and commissioning of fan with supply, fixing, testing and or as per technical specification shown in Para (T) of Annexure Description of Item Errection	Unit Numbers ecification Unit Numbers d commiss Unit Numbers	Qty 10.00 shown in F Qty 244.00 Gioning of I Qty 244.00	ulti strand tra (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00 Total	Amount 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 Amount 102480.00
S No. Item- 26 S No. Item- 27 S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item No 27(E)	th Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection Description of Item Description of Item Description of Item supply testing and commissioning of fan with supply, fixing, testing and or as per technical specification shown in Para (T) of Annexure Description of Item Errection Installation, Testing and Commissioning of 300 mm sweep PV ation shown in Para (U) of Annexure	Unit Numbers ecification Unit Numbers d commiss Unit Numbers	Qty 10.00 shown in F Qty 244.00 Gioning of I Qty 244.00	ulti strand tra (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00 Total	Amount 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 Tan Amount 102480.00
S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item No 27(E) Supply, specific Item No	th Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item	Unit Numbers coffication Unit Numbers d commiss Unit Numbers Unit Numbers	Qty 10.00 shown in F Qty 244.00 Gioning of I Qty 244.00 t fan as pe	ulti strand ara (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00 Total er technica Rate	Amount 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 Amount 102480.00 102480.00 1
S No. Item- 26 S No. Item- 27 S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item No 27(E) Supply, specific Item No 28(E)	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item	unit Numbers copper co ification sh unit Numbers codification Unit Numbers d commiss unit Numbers C Exhaus Unit Numbers	Qty 10.00 shown in F Qty 244.00 Gioning of I Qty 244.00 t fan as pe	ulti strand tra (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00 Total r technica Rate 120.00	Amount 6320.00 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 102480.00 102480.00 Amount 6000.00
S No. Item- 26 S No. Item- 27 S No.	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item No 27(E) Supply, specific Item No	th Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item Errection Of 5 star rated 1200 mm BLDC ceiling Fan as per technical special period of Item Supply testing and commissioning of fan with supply, fixing, testing and or as per technical specification shown in Para (T) of Annexure Description of Item Errection Installation, Testing and Commissioning of 300 mm sweep PV ation shown in Para (U) of Annexure Description of Item Errection Errection	Unit Numbers coffication Unit Numbers d commiss Unit Numbers Unit Numbers	Qty 10.00 shown in F Qty 244.00 Gioning of I Qty 244.00 t fan as pe	ulti strand ara (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00 Total er technica Rate 120.00 1201.00	Amount 6320.00 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 102480.00 102480.00 106000.00 60050.00
S No. 1 Item- 26 S No. 1 Item- 27 S No. 1	point win PVC Annexu Item No 25(E) Supply Item No 26(s) Fixing, regulate Item No 27(E) Supply, specific Item No 28(E) 28(s)	ith Modular switch by 3 nos. 1.5 Sq. mm. FRLS PVC insulated of casing capping/ pipe and all accessories as per technical speciare. Description of Item	Copper co ification sh Unit Numbers ecification Unit Numbers d commiss Unit Numbers C Exhaus Unit Numbers Numbers	Qty 10.00 shown in F Qty 244.00 Gioning of I Qty 244.00 t fan as pe Qty 50.00 50.00	ulti strand ara (R) & (S Rate 632.00 Total Para (T) of Rate 2912.00 Total EME type I Rate 420.00 Total er technica Rate 120.00 1201.00 Total	Amount 6320.00 6320.00 Annexure. Amount 710528.00 710528.00 an Amount 102480.00 1 Amount 6000.00 60050.00 66050.00

Page 8 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

Ī	•					_
1	29(S)	Supply	Numbers	16.00	3200.00	51200.00
2	29(E)	Errection	Numbers	16.00	320.00	5120.00
	Ι				Total	56320.00
Item- 30	accesso	installation, testing and commissioning of 20W LED tube light pries. The contractor shall provide the mounting arrangement fal specification shown in Para (Q) of Annexure.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	30(S)	Supply	Numbers	750.00	287.00	215250.00
2	30(E)	Errection	Numbers	750.00	29.00	21750.00
					Total	237000.00
Item- 31		Installation, Testing and Commissioning of emergency led light) of Annexure	nt as per te	echnical sp	ecification	shown in
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	31(E)	Errection	Numbers	16.00	2703.00	43248.00
					Total	43248.00
Item- 32		installation, testing & commissioning of 8 SWG G.I. earth Wire of Annexure.	as per ted	chnical spe	ecification	shown in
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	32(E)	Errection	Metre	2500.00	18.00	45000.00
					Total	45000.00
Item- 33	amende	of materials and providing 50 mm dia. G.I. pipe earthing with Ed latest and as per drawing No. EL/ADI/51/2717/20 of Sr. DEE n Para (Y) of Annexure.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	33(E)	Errection	Numbers	96.00	800.00	76800.00
2	33(S)	Supply	Numbers	96.00	2756.00	264576.00
	1				Total	341376.00
Item- 34		installation, testing & commissioning of G.I. earth strip size 50 n Para (Z) of Annexure.	X6 mm. as	per techr	nical specif	
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	34(E)	Errection	Metre	300.00	93.00	27900.00
	1				Total	27900.00
Item- 35		installation, testing and commissioning of LED glow sign board the help of 25x3 mm M.S. angle as per technical specification				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	35(S)	Supply	Numbers	86.00	4085.00	351310.00
2	35(E)	Errection	Numbers	86.00	908.00	78088.00
					Total	429398.00
Item- 36	installed	installation, testing & commissioning of submersible pump set I in sump suitable for 240V single phase supply & 2.0 HP as per Annexure				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	36(E)	Errection	Numbers	10.00	889.00	8890.00
2	36(S)	Supply	Numbers	10.00	10843.00	108430.00
					Total	117320.00
Item- 37	pump s Meter. I Siemen	erection, testing and commissioning of energy efficient 415V 3 at of 12.5 HP complete with all accessories (Copper model) has Pump shall be of Amrut model no. N25 APL 125 (Copper models, NGEF, Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as Annexure	ving disch el) or equiv	arge 840 /alent mod	LPM at the del of Kirlos	head 40 skar, CG,

Page 9 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	37(E)	Errection	Numbers	2.00	6021.00	12042.00
2	37(S)	Supply	Numbers	2.00	60214.00	120428.00
					Total	132470.00
Item- 38	accesso no. N25	of energy efficient 415V 3 phase supply submersible monoset ories (Copper model) having discharge 840 LPM at the head 4 5 APL 125 (Copper model) or equivalent model of Kirloskar, CO DS, Texmo, Shakti as per technical specification shown in Para	io Meter. F G, Siemens	Pump shall s, NGEF, (l be of Amr	ut model
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	38(S)	Supply	Numbers	2.00	60214.00	120428.00
					Total	120428.00
Item- 39	Supply Annexu	and providing 40 mm dia. Heavy UPVC Column pipe as per te	chnical spe	ecification	shown in F	Para (DD) of
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	39(E)	Errection	Metre	32.00	34.00	1088.00
2	39(S)	Supply	Metre	32.00	337.00	10784.00
					Total	11872.00
Item- 40	Supply Annexu	and providing 50 mm dia. Heavy UPVC Column pipe as per te	chnical spe	ecification	shown in F	Para (EE) of
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	40(E)	Errection	Metre	1050.00	48.00	50400.00
1 2	40(S) Supply,	Supply erection, testing and commissioning of energy efficient 415V	Metre 3 phase su	1050.00	479.00 Total nersible ve	502950.00 553350.00 rtical pump
1 2 Item- 41	40(S) Supply, set of 1 Pump s	Supply erection, testing and commissioning of energy efficient 415V 3 5 HP complete with all accessories (Copper model) having dis shall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technology.	Metre 3 phase sucharge 20ent model	1050.00 upply subm 0 LPM at t of Kirloska	Total nersible veithe head 1str, CG, Siel	502950.00 553350.00 rtical pump 57 Meter. mens,
	Supply, set of 1 Pump s NGEF,	Supply erection, testing and commissioning of energy efficient 415V 3 5 HP complete with all accessories (Copper model) having dis shall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technology.	Metre 3 phase sucharge 20ent model	1050.00 upply subm 0 LPM at t of Kirloska	Total nersible veithe head 1str, CG, Siel	502950.00 553350.00 rtical pump 57 Meter. mens,
Item- 41	Supply, set of 1 Pump s NGEF, Annexu Item	erection, testing and commissioning of energy efficient 415V : 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice Description of Item	Metre 3 phase sucharge 20ent model inical specifical	1050.00 upply subm 0 LPM at t of Kirloska rication sho	479.00 Total mersible veithe head 1str, CG, Sierown in Para	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount
S No.	Supply, set of 1 Pump s NGEF, Annexu	Supply erection, testing and commissioning of energy efficient 415V; 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivaled Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice	Metre 3 phase sucharge 20 ent model onical specif	upply subm 0 LPM at t of Kirloska cication sho	479.00 Total mersible veithe head 1: ar, CG, Sierown in Para	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount
Item- 41 S No.	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E)	erection, testing and commissioning of energy efficient 415V 35 HP complete with all accessories (Copper model) having dissibility that the property of the pr	Metre 3 phase sucharge 200 ent model nical specifical	upply subm 0 LPM at t of Kirloska cication sho	479.00 Total mersible ve the head 1str, CG, Sier own in Part Rate 6636.00	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00
S No.	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessor	erection, testing and commissioning of energy efficient 415V 3 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivaled Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technore Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical process (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sien	Metre 3 phase sucharge 200 ent model nical specifical	upply subm 0 LPM at t of Kirloska cication sho Qty 4.00 4.00 f 15 HP co Pump sha EF, Calam	479.00 Total mersible ve the head 1: ar, CG, Sier own in Pars Rate 6636.00 Total complete wit all be of Am	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 265424.00 291968.00 h all nrut model
S No.	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessor	erection, testing and commissioning of energy efficient 415V 3 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivaled Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technore Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical poinces (Copper model) having discharge 200 LPM at the head 1	Metre 3 phase sucharge 200 ent model nical specifical	upply subm 0 LPM at t of Kirloska cication sho Qty 4.00 4.00 f 15 HP co Pump sha EF, Calam	479.00 Total mersible ve the head 1: ar, CG, Sier own in Pars Rate 6636.00 Total complete wit all be of Am	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 265424.00 291968.00 h all nrut model
S No. 1 2	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessors. KDS, To Item	erection, testing and commissioning of energy efficient 415V 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical profes (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sierexmo, Shakti as per technical specification shown in Para (FF) Description of Item	Metre 3 phase sucharge 20 ent model enical specif Unit Numbers Numbers oump set of 57 Meter. mens, NGE of Annexu	1050.00 upply subm 0 LPM at t of Kirloska ication sho Qty 4.00 4.00 f 15 HP co Pump sha EF, Calam ure Qty	479.00 Total mersible ve the head 1: ur, CG, Sier own in Par- Rate 6636.00 66356.00 Total complete with all be of Am a, KSB, Sh	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 265424.00 291968.00 h all rrut model uriram, Lubi,
S No. 1 2 Item- 42 S No.	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessono. PS KDS, To Item No	erection, testing and commissioning of energy efficient 415V 3 phase supply Description of ltem Errection Supply of energy efficient 415V 3 phase supply submersible vertical pories (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sierexmo, Shakti as per technical specification shown in Para (FF)	Metre 3 phase sucharge 200 ent model inical specifical	1050.00 upply subm 0 LPM at t of Kirloska ication sho Qty 4.00 4.00 f 15 HP co Pump sha EF, Calam ure Qty	479.00 Total mersible versible	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 291968.00 h all nrut model uriram, Lubi, Amount
S No. 1 2 Item- 42 S No.	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessono. PS KDS, To Item No 42(S) Supply, pump s Meter. Siemen	erection, testing and commissioning of energy efficient 415V 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical profes (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sierexmo, Shakti as per technical specification shown in Para (FF) Description of Item	Metre 3 phase sucharge 200ent model onical specifical	1050.00 upply subm 0 LPM at t of Kirloska ication sho 4.00 4.00 4.00 f 15 HP co Pump sha EF, Calam ure Qty 4.00 supply su urge 140 L model of H	479.00 Total hersible versible	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 291968.00 h all nrut model uriram, Lubi, Amount 265424.00 265424.00 vertical head 159 CG,
Item- 41 S No. 1 2 Item- 42 S No.	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessono. PS KDS, To Item No 42(S) Supply, pump s Meter. Siemen	erection, testing and commissioning of energy efficient 415V 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical profes (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sierexmo, Shakti as per technical specification shown in Para (FF) Description of Item Supply installation, testing and commissioning of energy efficient 415 et of 7.5 HP complete with all accessories (Copper model) have pump shall be of Amrut model no. PS 506 (Copper model) or eas, NGEF, Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as	Metre 3 phase sucharge 200ent model onical specifical	1050.00 upply subm 0 LPM at t of Kirloska ication sho 4.00 4.00 4.00 f 15 HP co Pump sha EF, Calam ure Qty 4.00 supply su urge 140 L model of H	479.00 Total hersible versible	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 291968.00 h all nrut model uriram, Lubi, Amount 265424.00 265424.00 vertical head 159 CG,
Item- 41 S No. 1 2 Item- 42 S No. 1	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accessor no. PS KDS, To Item No 42(S) Supply, pump s Meter. Siemenn (FF) of Item	erection, testing and commissioning of energy efficient 415V 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivale Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical pories (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sierexmo, Shakti as per technical specification shown in Para (FF) Description of Item Supply installation, testing and commissioning of energy efficient 415 et of 7.5 HP complete with all accessories (Copper model) have Pump shall be of Amrut model no. PS 506 (Copper model) or eas, NGEF, Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as Annexure	Metre 3 phase sucharge 20 ent model inical specifical	1050.00 upply subm 0 LPM at tool Kirloska cication should be a submitted of Kirloska Qty 4.00 4.00 f 15 HP color Pump sha EF, Calamure Qty 4.00 supply su urge 140 L model of Kirloska	479.00 Total mersible ve the head 1: ur, CG, Sier own in Pari Rate 6636.00 Total melete wit all be of Am a, KSB, Sh Rate 66356.00 Total bmersible PM at the Kirloskar, C fication sho	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 265444.00 265424.00 291968.00 h all brut model britan, Lubi, Amount 265424.00 265424.00 vertical head 159 CG, bwn in Para
Item- 41 S No. 1 2 Item- 42 S No. 1	Supply, set of 1 Pump s NGEF, Annexu Item No 41(E) 41(S) Supply accesso no. PS KDS, To Item No 42(S) Supply, pump s Meter. I Siemen (FF) of Item No	erection, testing and commissioning of energy efficient 415V 3 5 HP complete with all accessories (Copper model) having dischall be of Amrut model no. PS 510 (Copper model) or equivalence Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as per technice Description of Item Errection Supply of energy efficient 415V 3 phase supply submersible vertical poories (Copper model) having discharge 200 LPM at the head 1510 (Copper model) or equivalent model of Kirloskar, CG, Sietexmo, Shakti as per technical specification shown in Para (FF) Description of Item Supply installation, testing and commissioning of energy efficient 415 et of 7.5 HP complete with all accessories (Copper model) have pump shall be of Amrut model no. PS 506 (Copper model) or es, NGEF, Calama, KSB, Shriram, Lubi, KDS, Texmo, Shakti as Annexure Description of Item	Metre 3 phase sucharge 200ent model onical specifical	1050.00 Ipply subm 0 LPM at t of Kirloska ication sho 4.00 4.00 4.00 f 15 HP co Pump sha EF, Calam ure Qty 4.00 supply su urge 140 L model of t ical specif Qty 4.00	479.00 Total mersible versible	502950.00 553350.00 rtical pump 57 Meter. mens, a (FF) of Amount 26544.00 291968.00 h all nrut model uriram, Lubi, Amount 265424.00 265424.00 vertical head 159 CG, own in Para

Page 10 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

Item- 44	accessono. PS	of energy efficient 415V 3 phase supply submersible vertical pries (Copper model) having discharge 140 LPM at the head 506 (Copper model) or equivalent model of Kirloskar, CG, Si exmo, Shakti as per technical specification shown in Para (F	d 159 Meter. iemens, NGE	Pump sha F, Calam	all be of Am	rut model
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	44(S)	Supply	Numbers	4.00	48954.00	195816.00
	, ,				Total	195816.00
Item- 45		installation, testing and commissioning of Pump controller Frange 28Amp-42Amp) as per technical specification shown in				of 20HP
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	45(E)	Errection	Numbers	14.00	2040.00	28560.00
2	45(S)	Supply	Numbers	14.00	20396.00	285544.00
					Total	314104.00
Item- 46		of Pump controller FASD heavy duty with inbuilt WLC of 20Hal specification shown in Para (GG) of Annexure	IP (Relay ran	ige 28Amı	p-42Amp) a	as per
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	46(S)	Supply	Numbers	7.00	20396.00	142772.00
			<u> </u>		Total	142772.00
Item- 47		installation, testing and commissioning of Pump controller Fal specification shown in Para (HH) of Annexure	ASD with inb	uilt WLC	of 15HP as	per
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	47(E)	Errection	Numbers	6.00	1703.00	10218.00
2	47(S)	Supply	Numbers	6.00	17028.00	102168.00
	•				Total	112386.00
Item- 48	Supply Annexu	of Pump controller FASD with inbuilt WLC of 15 HP as per tere	echnical spec	ification s	hown in Pa	ra (HH) of
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	48(S)	Supply	Numbers	3.00	17028.00	51084.00
					Total	51084.00
Item- 49		installation, testing and commissioning of Pump controller Dal specification shown in Para (II) of Annexure	OCL with inbu	ilt WLC of	f 7.5 HP as	per
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	49(E)	Errection	Numbers	4.00	980.00	3920.00
2	49(S)	Supply	Numbers	4.00	9796.00	39184.00
					Total	43104.00
Item- 50	Supply Annexu	of Pump controller DOL with inbuilt WLC of 7.5 HP as per tear.	chnical speci	fication sh	nown in Par	a (II) of
item- 30	,			Qty	Rate	Amount
S No.	Item No	Description of Item	Unit		<u> </u>	
	Item	Description of Item Supply	Unit Numbers	2.00	9796.00	19592.00
	Item No	·			9796.00 Total	19592.00 19592.00
	Item No 50(S)	·	Numbers	2.00	Total	19592.00
S No.	Item No 50(S)	Supply tion of all kind of soil (except Rock) and filling back the excav	Numbers	2.00	Total	19592.00
S No. 1 Item- 51	Item No 50(S) Excava shown	Supply tion of all kind of soil (except Rock) and filling back the excaven Para (JJ) of Anexure.	Numbers vated earth a	2.00	Total nnical Spec	19592.00 ification
S No. 1 Item- 51	Item No 50(S) Excava shown Item No	Supply tion of all kind of soil (except Rock) and filling back the excave n Para (JJ) of Anexure. Description of Item	Numbers vated earth a	2.00	Total nnical Spec	19592.00 ification Amount

Page 11 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	52(E)	Errection	cum	50.00	859.00	42950.00
					Total	42950.00
Item- 53		installation, testing & commissioning of straight through Jointial specification Shown in Para (LL) of Annexure.	ng Kit of si	ze 4 core	50 Sq. mm	as per
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	53(E)	Errection	Numbers	10.00	218.00	2180.00
2	53(S)	Supply	Numbers	10.00	2181.00	21810.00
					Total	23990.00
Item- 54		installation, testing & commissioning of straight through Jointial specification Shown in Para (LL) of Annexure.	ng Kit of si	ze 4 core	95 Sq.mm.	as per
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	54(E)	Errection	Numbers	10.00	289.00	2890.00
2	54(S)	Supply	Numbers	10.00	2890.00	28900.00
					Total	31790.00
Item- 55	associa	installation, testing and commissioning of 240 Watt LED Flood ted accessories. The contractor shall provide the mounting are per technical specification shown in Para (Q) of Annexure.	•	•	•	
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	55(E)	Errection	Numbers	40.00	1171.00	46840.00
2	55(S)	Supply	Numbers	40.00	11706.00	468240.00
					Total	515080.00
Item- 56		erection, testing and commissioning of plug with socket 20 Ang) in plastic enclosure as per technical specification Shown in				ace
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	56(E)	Errection	Numbers	16.00	473.00	7568.00
					Total	7568.00
Item- 57		installation, testing and commissioning of 150 Ltr. capacity storion as per technical specification Shown in Para (NN) of Annex		S.S. body	Water coo	ler with
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	57(E)	Errection	Numbers	8.00	47681.00	381448.00
					Total	381448.00
Item- 58	accesso	installation, testing and commissioning of 120 watt highbay ty ories. The contractor shall provide the mounting arrangement al specification shown in Para (Q) of Annexure.	-	_		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	58(E)	Errection	Numbers	30.00	790.00	23700.00
2	58(S)	Supply	Numbers	30.00	7901.00	237030.00
					Total	260730.00
Item- 59	Supply	of DCP Type fire extinguisher as per technical specification Sh	own in Pa	ra (OO) of		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	59(S)	Supply	Numbers	6.00	1263.00	7578.00
	I (-)	1			Total	7578.00
Item- 60		Installation, Testing and Commissioning of 30 Amp. Bakelite 3 al specification Shown in Para (PP) of Annexure.	3 Way Con	nector SH		
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	60(E)	Erection	Numbers	75.00	4.00	300.00

Page 12 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

2	60(S)	Supply	Numbers	75.00	36.00	2700.00
					Total	3000.00
Item- 61		Installation, Testing and Commissioning of Cable Junction Bo knockouts size 130 X 180 X 77 mm for 4 sq. mm. cable as per exure.				
S No.	Item No	Description of Item	Unit	Qty	Rate	Amount
1	61(E)	Erection	Numbers	40.00	100.00	4000.00
2	61(S)	Supply	Numbers	40.00	999.00	39960.00
·					Total	43960.00
Item- 62		nperature based load for 3 Nos. Air conditioner as per technic	al specifica	tion show	n ın Para (I	RH) of
S No.	Annexu Item No	·	Unit	Qty	n in Para (i	Amount
	Annexu Item No	re.	· -		Rate	
	Annexu Item	Description of Item	Unit	Qty 5.00	Rate	Amount
S No.	Annexu Item No 62(E)	Description of Item Erection	Unit Numbers	Qty 5.00	Rate 409.00	Amount 2045.00
S No.	Item No 62(E) 62(S) Supply, LED tub	Description of Item Erection	Unit Numbers Numbers	5.00 5.00 Capsule ty	Rate 409.00 27625.00 Total pe fitting) 2	2045.00 138125.00 140170.00 2X(18/20) W
S No. 1 2	Item No 62(E) 62(S) Supply, LED tub	Description of Item Erection Supply Installation, Testing and Commissioning of Corrosion proof Loe fittings. The contractor shall provide the mounting arranger	Unit Numbers Numbers	5.00 5.00 Capsule ty	Rate 409.00 27625.00 Total pe fitting) 2	2045.00 138125.00 140170.00 2X(18/20) W
S No. 1 2	Annexu Item No 62(E) 62(S) Supply, LED tub per tech Item	Description of Item Erection Supply Installation, Testing and Commissioning of Corrosion proof Loe fittings. The contractor shall provide the mounting arranger annical specification shown in Para (Q) of Annexure.	Unit Numbers Numbers ED fitting (Conent for fitti	5.00 5.00 Capsule tyngs as rec	Rate 409.00 27625.00 Total pe fitting) 2 quired at si	2045.00 138125.00 140170.00 2X(18/20) W te and as
S No. 1 2	Annexu Item No 62(E) 62(S) Supply, LED tub per tech Item No	Description of Item Erection Supply Installation, Testing and Commissioning of Corrosion proof Loe fittings. The contractor shall provide the mounting arranger natical specification shown in Para (Q) of Annexure. Description of Item	Unit Numbers Numbers ED fitting (Conent for fitti	5.00 5.00 Capsule tyngs as rec	## Rate 409.00 27625.00 Total pe fitting) 2 quired at si ### Rate 238.00	2045.00 138125.00 140170.00 2X(18/20) W te and as

4. ELIGIBILITY CONDITIONS

Special Technical Criteria

•	S.No.	Description	on								Confirmation Required		Documents Uploading
1	1	Similar Station/Bu	work uilding/P	shall roject/Y	mean ard etc."	by	"Electrification/Rewiring	of	any	Major	No	Nο	Allowed (Mandatory)

Standard Technical Criteria

	'			Documents Uploading
1	Tenderer has to submit attested copy of valid electrical contractors license as per IE rule 45, which can be in his own name or in the name of his firm.	No	INo	Allowed (Mandatory)

Page 13 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

1.1	Technical Eligibility Criteria: (a)The tenderer must have successfully completed or substantially completed any one of the following categories of work(s) during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: (i)Three similar works each costing not less than the amount equal to 30% of advertised value of the tender, OR (iii) Two similar works each costing not less than the amount equal to 40% of advertised value of the tender, OR (iii)One similar work costing not less than the amount equal to 60% of advertised value of the tender. (b) (1) In case of tenders for composite works (e.g. works involving more than one distinct component, such as Civil Engineering works, S&T works, Electrical works, OHE works etc. and in the case of major bridges - substructure, superstructure etc.), tenderer must have successfully completed or substantially completed any one of the following categories of work(s) during last 07 (seven) years, ending last day of month previous to the one in which tender is invited: (i) Three similar works each costing not less than the amount equal to 30% of advertised value of each component of tender, OR (ii) Two similar works each costing not less than the amount equal to 30% of advertised value of each component of tender. Note for (b)(1): Separate completed works of minimum required values shall also be considered for fulfillment of technical eligibility criteria for different components. (b) (2) In such cases, what constitutes a component in a composite work shall be clearly predefined with estimated tender cost of it, as part of the tender documents without any ambiguity. (b) (3) To evaluate the technical eligibility of tenderer, only components of work as stipulated in tender documents for evaluation of technical eligibility, shall be considered. The scope of work covered in other remaining components shall be either executed by tenderer himself if he has work experience as mentioned in clause 7 of the Standard General Conditions of Contractor t	No	No	Allowed (Mandatory)
1.1.1	Note: for subletting of work costing up to Rs 50 lakh, no previous work experience of subcontractor shall be asked for by the Railway. In case after award of contract or during execution of work it becomes necessary for contractor to change subcontractor, the same shall be done with subcontractor(s) fulfilling the requirements as per clause 7 of Part-II of SGCC, with prior approval of Chief Engineer in writing. Note for Item (a) & (b): Work experience certificate from private individual shall not be considered. However, in addition to work experience certificates issued by any Govt. Organisation, work experience certificate issued by Public listed company having average annual turnover of Rs 500 crore and above in last 3 financial years excluding the current financial year, listed on National Stock Exchange or Bombay Stock Exchange, incorporated/registered at least 5 years prior to the date of closing of tender, shall also be considered provided the work experience certificate has been issued by a person authorized by the Public listed company to issue such certificates. In case tenderer submits work experience certificate issued by public listed company, the tenderer shall also submit along with work experience certificate, the relevant copy of work order, bill of quantities, bill wise details of payment received duly certified by Chartered Accountant, TDS certificates for all payments received and copy of final/last bill paid by company in support of above work experience certificate.	No	No	Allowed (Mandatory)

Submission of Document Verification Certificate

S.No.	·	Confirmation Required		Documents Uploading
1	Please submit a certificate in the prescribed format (please download the format from the link given below) for verification / confirmation of the documents submitted for compliance of eligibility / qualifying criteria. Non submission of the certificate, or submission of certificate either not properly filled in, or in a format other than the prescribed format shall lead to summary rejection of your offer. (Click here to download the Format of Self Certificatio)	No	Nο	Allowed (Mandatory)

Standard Financial Criteria

Page 14 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

S.No.	Description	Confirmation Required		Documents Uploading
1	Financial Eligibility Criteria: The tenderer must have minimum average annual contractual turnover of V/N or 'V' whichever is less; where V= Advertised value of the tender in crores of Rupees. N= Number of years prescribed for completion of work for which bids have been invited. The average annual contractual turnover shall be calculated as an average of "total contractual payments" in the previous three financial years, as per the audited balance sheet. However, in case balance sheet of the previous year is yet to be prepared/ audited, the audited balance sheet of the fourth previous year shall be considered for calculating average annual contractual turnover. The tenderers shall submit requisite information as per Annexure-VIB of Indian Railways Standard General Conditions of Contract, GCC - April 2022, along with copies of Audited Balance Sheets duly certified by the Chartered Accountant/ Certificate from Chartered Accountant duly supported by Audited Balance Sheet.	No	No	Allowed (Mandatory)

5. COMPLIANCE

Commercial-Compliance

S.No.	•	Confirmation Required		Documents Uploading
1	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Vac	Allowed (Optional)

Technical-Compliances

,	S.No.	Description	Confirmation Required		Documents Uploading
	1	The intended tenderer shall get digital signature certificate and get registered with Rly. For new vendors, the procedure is described in Rly. Website www.ireps.gov.in. The tender shall be submitted in Rly website www.ireps.gov.in not later than stipulated time and date of tender closing. After closing of the tenders at stipulated time the tenders shall be opened on the same date. In case the date of tender opening happens to be holiday, the tender shall be opened on the next working day in the same manner.	No	No	Allowed (Optional)
		The tenderer shall clearly specify whether the tender is submitted on his own (Proprietary Firm) or on behalf of a Partnership Firm / Company / Joint Venture (JV) / Registered Society /Registered Trust / Hindu Undivided Family (HUF) / Limited Liability Partnership (LLP) etc. The tenderer(s) shall attached all documents pertains to status of firm i.e Partnership deed, Power of attorney, Resolution of Board of Director's etc. as applicable as per GCC.	No	No	Allowed (Optional)

Undertakings

S.No	·	Confirmation Required	Documents Uploading
1	I/ We have visited the works site and I / We am / are aware of the site conditions.	•	Not Allowed

6. Documents attached with tender

S.No.	Document Name	Document Description
1	GCC_April-2022.pdf	GCC 2022
2	ACS-1toGCC-2022.pdf	ACS 01 to GCC 2022
3	ACS-2toGCC-2022.pdf	ACS 02 to GCC 2022
4	ANNEXURE-VANDANNEXURE-VAREVISED_FORMAT.pdf	Revised format of Annex V and VA
5	AnnexureVIB.pdf	Annexure VIB
6	TermsandconditionofT_82_doc_HMTpendingwork.pdf	Terms and condition
7	$Annexure technical specification of T_82_doc_HMT pending work.pdf$	Annexure technical specification

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by

Page 15 of 16 Run Date/Time: 08/02/2023 12:00:54

Tender No: EL-50-1-ADI-T-82-2022-23 **Closing Date/Time:** 09/03/2023 15:00

Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: KUMAR SAMBHAV PORWAL

Designation: Sr.DEEADI

Page 16 of 16 Run Date/Time: 08/02/2023 12:00:54